Unique Auctions Catalogue 29 Jun 2016

	Onique Auctions Cui	uiogi	ue 27 Jun 2010
301	A 4 tier corner unit	343	A wheelbarrow etc
302	A garden lawn roller	344	A wooden ladder
303	A pine corner TV cabinet etc	345	A two man cross-cut saw
304	A mirrored 2 door shelf unit	346	A fine walnut bedstead
305	2 fire guards, companion set etc	347	A painted cane conservatory table
306	A quantity of saucepans and kitchen items	348	A large quantity of white garden chairs, a garden
307	A quantity of gas burners etc		table etc
308	A garden chimney	349	A box of vintage tools etc
309	A garden chimney	350	A box of tools and a tray of tools
310	A garden chimney		3 vintage dry powder fire extinguishers
311	A stone planter on stand		A quantity of nails, hardware, string etc
312	A quantity of garden pots		A metal box and contents
313	A stone bird bath on stand		A quantity of tools etc
314	2 garden planters		A quantity of tools, sheeting etc
315	A long garden planter		2 stone planters
316	2 garden planters		4 lathes, machinery etc
317	A stone garden planter		No lot
318	A metal framed, glass topped table etc	350J	No lot
319	A garden bench		No lot
320	2 armchairs and cushions	351	A quantity of electrical items
321	2 office chairs	352	A quantity of animal ornaments
322	A quantity of misc including tools, pots etc	353	A quantity of china etc, 1 shelf
323	A stone garden planter on plinth	354	2 wood kitchen racks, bowl, clock etc
324	A large airer etc	355	A quantity of glassware, china etc, 1 shelf
325	A wooden step ladder and a metal step ladder	356	A quantity of dog ornaments etc, 1 shelf
326	A 3 shelf bookshelf	357	A quantity of china, egg baskets, jugs etc, 1 shelf
327	A cabinet, metal shelves etc	358	A large quantity of glasses etc
328	A large quantity of miscellaneous including garden	359	2 boxes of glasses
	item	360	A solid wood stool and small stool
329	A 5 tier set of shelves	361	A pair of Ming vases, figures, fish dish etc
330	A wooden fire surround, companion set etc	362	A shelf of craft items, needles etc
331	A quantity of tools including large pickaxe	363	2 shelves of modern office files etc
332	A quantity of shears and cutters	364	2 Playstation steering wheels
333	A quantity of tools and miscellaneous items	365	A quantity of soft toys
334	A quantity of garden tools	366	A quantity of craft items including stands
335	A quantity of spades, rakes etc	367	A quantity of china
336	4 brooms	368	A basket of soft toys
337	A set of golf clubs in golf bag	369	A shelf of tools
338	6 chairs	370	A picnic basket and other wickerware
339	An advertising crate and a packing crate	371	A shelf of ornaments etc
340	A very large quantity of furniture including tables, stands etc	372	A box of toys etc
341	A wood framed, metal springed vintage bed, mirror	373	A shelf of toys and games
5 + 1	etc	374	A box of tools
342	A large bulbous glass vase and a garden Buddha	375	A bolt cropper and spot welder
J.E		376	2 bowls and a tureen

377	A quantity of LPs and 78s	422	3 shelves of place mats, photo frames etc
378	A small TV, 2 radios, 2 DVD players	423	A Hotpoint washing machine
379	A tent, umbrellas etc	424	A large quantity of wicker baskets
380	A quantity of wooden toys etc	425	An office photocopier
381	A set of 4 ladder back dining chairs	426	A Whirlpool washing machine
382	An air conditioning unit	427	A microwave
383	An 8 track stereo unit, old Polaroid etc	428	A Guinness fridge
384	A new drill pillar stand	429	An Indesit washing machine
385	A Fridgemaster fridge / freezer	430	A coffee machine and foot spa
386	An Electrolux fridge / freezer	431	A microwave
387	A pair of pine framed teddy bear prints	432	A Hotpoint washing machine
388	A table, magazine rack, bread board etc	433	A quantity of pillows and duvet
389	An Evestaff mini piano	434	A Logik freezer
390	A folding table, blow up bed etc	435	A Hotpoint fridge / freezer
391	A gun case (keys in office)	436	A good quality long oak hall table
392	A projector screen and projector	437	A quantity of sashes, throws, table cloths etc
393	A folding stool, stand, steps etc	438	A large quantity of pictures
394	4 shelves of computer, stereo items etc	439	A laptop case
395	A Sony stereo system, record deck etc	440	A Roberts radio
396	A large oak gate leg table	441	A quantity of tools, shoe stretchers etc
397	A hand woven wall hanging	442	A quantity of china, tea sets etc
398	A large quantity of suitcases	443	A mahogany corner cabinet
399	An oak bureau	444	A vacuum cleaner
400	A large quantity of yoga and fitness books	445	2 folding seats
401	A Guitar Hero II and Playstation sports board	446	A Dyson cleaner
402	A shelf of tools etc	447	An Electrolux cleaner
403	2 shelves of tools, screws, nails etc	448	An Electrolux cleaner
404	A computer, printer accessories etc	449	A VAX Swift cleaner
405	A punch bowl, glasses etc	450	An Electrolux cleaner
406	A quantity of brassware including Victorian	451	A Panasonic cleaner
	candlesticks	452	A Sharp microwave
407	A large quantity of pictures	453	3 electric heaters
408	A large quantity of tools, screws etc	454	A modern record player with turntable
409	A good quality mobility chair	455	A coal effect electric fire with surround
410	Pine shelves	456	2 Calor gas fires and bottles
411	A retro dressing table	457	A quantity of vases and lamp base
412	A pair of JVC stereo speakers on stands	458	A shelf of kitchen equipment
413	A hostess trolley and hotplate	459	A quantity of stereo separates and 3 pairs of
414	A monitor and 2 keyboards		speakers
415	A new (still packed) Indesit washing machine	460	A quantity of movie projectors etc
416	A Garard record deck	461	A punch bag
417	A bamboo shelf unit	462	2 Directors chairs
418	A stereo system	463	3 boxes of glassware
419	A quantity of books etc	464	A Toshiba flat screen TV
420	A slim book case	465	An office printer, shredder etc
421	2 shelves of picture frames etc	466	A box of toys

467	A Daewoo microwave	513	A shelf of china
468	A pair of kitchen chairs and a stick back chair	514	A shelf of china
469	An oak book case / cabinet	515	A shelf of tools and china
470	2 shelves of gift boxes etc	516	A hand vacuum, old iron etc
471	A quantity of DVDs	517	An oak trolley
472	2 2 bowls and 2 vases	518	A computer desk
473	A quantity of padlocks, handle, tools etc	519	2 beds, 1 under the other
474	A box of Lincolnshire Life magazines	520	3 single matresses
475	A quantity of old locks etc	521	A blue 3 seater settee
476	A tapestry, frame, wool etc	522	A Chinese rug
477	' A folding commode (new)	523	A quantity of head boards
478	3 2 shelf units	524	An old wooden head board and mattress
479	An Alba record deck	525	A quantity of double head boards
480	A quantity of pictures	526	A pair of gilt frame pcitures
481	A crate of DVDs	527	An old drop drawer chest
482	2 2 boxes of CDs	528	An old drop drawer chest
483	B A shelf of ornaments	529	A large pine table with drawer
484	A quantity of stereo separates, record deck etc	530	A record player
485	A quantity of LPs and 78 rpm records	531	A Dynotron 3 piece record player
486	6 An uplighter and spotlights	532	An office chair
487	3 mirrors	533	A black office chair
488	B A quantity of square vases	534	A mahogany cabinet
489	4 shelves of books	535	A 3 drawer filing cabinet
490	2 brass light fittings	536	A 3 drawer filing cabinet
491	A 3 branch china and brass ceiling light	537	A large quantity of books
492	A crystal chandelier	538	A mahogany dressing table
493	B A small mahogany table with drawers	539	A box of linen
494	An oak dresser	540	A single wardrobe
495	A quantity of horse rosettes	541	A large oak dresser base
496	6 A quantity of pictures	542	A quantity of hats
497	An old 2 door shelf wall unit	543	A hall sideboard
498	8 An old school desk	544	A quantity of of vases and jars etc
499	2 boxes of keyrings etc	545	A pair of square coffee tables
500	An old foot stool and retro kitchen chair	546	A quantity of cushions
501	A teak shelf unit	547	A quantity of china and pottery
502	A quantity of cushions	548	A quantity of brass and metalware
503	B A quantity of decanters	549	A retro coffee table by Myer
504	A glass top table	550	A quantity of pewter and metalware
505	A fur style jacket and dress	551	A video / DVD cabinet
506	3 old carpets	552	A quantity of toys, die-cast trucks etc
507	A large old wicker chair	553	2 heavy wooden coffee tables
508	B A mahogany desk	554	A box of bolts, hardware etc
509	, ,	555	Two mirrors
510	• •	556	A wing back armchair
511	'	557	A small old cupboard
512	A toaster, hats etc	558	A pine gateleg table

EE0	A how of miscellaneous including nurses	GOE	A quantity of aughions \$10.00 \$20.00
559 560	A Boby Burso water booter	605	A quantity of cushions £10.00 - £20.00
560	A Baby Burco water heater	606	A learn maharany sida baard \$40.00 - \$20.00
561	A pair of wing back armshairs	607	A large mahogany side board £10.00 - £20.00
562 563	A pair of wing back armchairs	608	A guartity of mirrors at \$10.00 - £20.00
	2 mirrors, a vase etc	609	A quantity of mirrors etc £10.00 - £20.00
564	An unusual set of retro corner shelves	610	A retro cabinet £10.00 - £20.00
565	2 sets of nest of 3 tables	611	A standard lamp £10.00 - £20.00
566	A quantity of pottery, glassware etc	612	A desk £10.00 - £20.00
567	A large display cabinet	613	A quantity of china (3 shelves) £10.00 - £20.00
568	A quantity of trophies etc	614	A cabinet £10.00 - £20.00
569	A 3 drawer container	615	A dressing table £10.00 - £20.00
570	A large display cabinet	616	2 oil paintings £10.00 - £20.00
571	A quantity of suitcases etc	617	A large quantity of glassware £10.00 - £20.00
572	A quantity of suitcases etc	618	A teak cornet cabinet £10.00 - £20.00
573	A five shelf set of corner shelves	619	An ash TV stand £10.00 - £20.00
574	A good quality corner unit	620	A old bow £10.00 - £20.00
575	A retro sliding door cabinet	621	A large quantity of china £10.00 - £20.00
576	A 2 door wardrobe £10.00 - £20.00	622	A quantity of old chairs £10.00 - £20.00
577	A 5 drawer chest of drawers £10.00 - £20.00	623	2 linen bedsides £10.00 - £20.00
578	An unusual record player £10.00 - £20.00	624	A mahogany desk £10.00 - £20.00
579	A pair of wicker chairs £10.00 - £20.00	625	A box of flowers £10.00 - £20.00
580	A mahogany bed side table £10.00 - £20.00	626	2 pine side tables £10.00 - £20.00
581	A quantity of electric lamps £10.00 - £20.00	627	An old oak side table £10.00 - £20.00
582	A white 2 drawer chest of drawers £10.00 - £20.00	628	3 old kitchen chairs £10.00 - £20.00
583	A pair of white bedside cabinets £10.00 - £20.00	629	A retro sideboard £10.00 - £20.00
584	A 5 drawer chest of drawers £10.00 - £20.00	630	An old stool £10.00 - £20.00
585	An old towel rack £10.00 - £20.00	631	A quality draw leaf table and 4 chairs £10.00 -
586	A quantity of magazines £10.00 - £20.00		£20.00
587	A 5 drawer chest of drawers £10.00 - £20.00	632	A quantity of linen £10.00 - £20.00
588	A white single door cupboard £10.00 - £20.00	633	A teak table and 4 chairs £10.00 - £20.00
589	An old dressing table £10.00 - £20.00	634	A quantity of linen £10.00 - £20.00
590	A quantity of old head boards £10.00 - £20.00	635	A large bird ornament £10.00 - £20.00
591	A formica table £10.00 - £20.00	636	A quantity of china £10.00 - £20.00
592	2 stools £10.00 - £20.00	637	2 book shelves £10.00 - £20.00
593	A stool, planter etc £10.00 - £20.00	638	A quantity of tea sets £10.00 - £20.00
594	A dressing table £10.00 - £20.00	639	6 soup bowls £10.00 - £20.00
595	An old doll £10.00 - £20.00	640	A quantity of Good Words £10.00 - £20.00
596	A trolley, stool etc £10.00 - £20.00	641	A quantity of brushes etc £10.00 - £20.00
597	A 4 drawer chest of drawers £10.00 - £20.00	642	A wicker basket and toys £10.00 - £20.00
598	A 2 drawer 2 door chest £10.00 - £20.00	643	A pair of pine 3 drawers £10.00 - £20.00
599	A stereo £10.00 - £20.00	644	A picture of Lady with Dog £10.00 - £20.00
600	3 tables £10.00 - £20.00	645	A folding bed £10.00 - £20.00
601	A quantity of old china £10.00 - £20.00	646	A folding bed £10.00 - £20.00
602	A teak drop leaf table £10.00 - £20.00	647	A pine 2 door wardrobe £10.00 - £20.00
603	A clock £10.00 - £20.00	648	A pine open rack dresser £10.00 - £20.00
604	A teak table £10.00 - £20.00	649	2 shelves of animals £10.00 - £20.00

650	A quantity of plant pots £10.00 - £20.00	691	3 wine racks £10.00 - £20.00				
651	A pine bedisde, chair etc £10.00 - £20.00	692	A quantity of blankets, throws etc £10.00 - £20.00				
652	A shelf of electric table lamps £10.00 - £20.00		A quantity of purses etc £10.00 - £20.00				
653	A shelf of interesting items including silverplate	694	Two ornate gilt framed pictures £10.00 - £20.00				
	£10.00 - £20.00	695	A dolls shop and contents £10.00 - £20.00				
654	2 shelves of china £10.00 - £20.00	696	A magazine rack / table £10.00 - £20.00				
655	A quantity of wooden boxes etc £10.00 - £20.00	697	Ab Arbiter karaoke machine £10.00 - £20.00				
656	A quantity of wooden items and painted duck £10.00 - £20.00	698	A stool £10.00 - £20.00				
CE7		699	A lidded stool £10.00 - £20.00				
657	A large gilt framed pictured £10.00 - £20.00	700	A quantity of china and pottery £10.00 - £20.00				
658	A quantity of china £10.00 - £20.00	701	2 retro fur chairs £10.00 - £20.00				
659	A quantity of pictures etc £10.00 - £20.00	702	A cartoon drawing of Rumpole £10.00 - £20.00				
660	2 standard lamps and 1 small lamp £10.00 - £20.00	703	A quantity of cutlery £10.00 - £20.00				
661	A stool £10.00 - £20.00	704	A quantity of silverplate £10.00 - £20.00				
662	A quantity of pictures etc £10.00 - £20.00	705	An adjustable wrought iron and copper oil lamp				
663	2 dolls £10.00 - £20.00		£20.00 - £30.00				
664	A quantity of brassware £10.00 - £20.00	706	A nice glazed display cabinet £10.00 - £20.00				
665	A table £10.00 - £20.00	707	A quantity of DVDs £10.00 - £20.00				
666	A quantity of glassware, crystal etc £10.00 -	708	A large quantity of soft toys £10.00 - £20.00				
	£20.00	709	A quantity of ornamnents, bowls etc £10.00 - £20.00				
667	A quantity of chamber pots £10.00 - £20.00	710	A quantity of DVDs £10.00 - £20.00				
668	Two mirrors £10.00 - £20.00	711	A typewriter in case £10.00 - £20.00				
669	A quantity of china and pottery £10.00 - £20.00	712	A silver reed typewriter £10.00 - £20.00				
670	A fire surround and mirror £10.00 - £20.00	713	A mahogany cabinet £10.00 - £20.00				
671	A quantity of bags etc £10.00 - £20.00	714	2 tables lamps and 2 light stands £10.00 - £20.00				
672	2 standard lamps etc £10.00 - £20.00	715	A Victorian stained pine chest of drawers £10.00 -				
673	A quantity of china £10.00 - £20.00		£20.00				
674	A quantity of brassware and metalware £10.00 - £20.00	716	A triple dressing mirror £10.00 - £20.00				
675	A quantity of glassware £10.00 - £20.00	717	A pair of gilt frame prints and a painted mirror £10.00 - £20.00				
676	A box of LPs etc £10.00 - £20.00	718	A Art Deco wardrobe £10.00 - £20.00				
677	An airer and 2 chairs £10.00 - £20.00	719	A tapestry £10.00 - £20.00				
678	3 John Cena mirrors £10.00 - £20.00	720	An oak bookcase £10.00 - £20.00				
679	A quantity of cutlery £10.00 - £20.00	721	4 Edwardian dining chairs £10.00 - £20.00				
680	A table £10.00 - £20.00	722	A quantitry of scrap books, photo's & army				
681	A quantity of safe boxes and china £10.00 - £20.00		ambulance manual £10.00 - £20.00				
682	A table with drawer £10.00 - £20.00	723	A Victorian brass bed pan £10.00 - £20.00				
683	Two suitcases £10.00 - £20.00	724	A boxed Action Man Scorpion Tank £10.00 -				
684	A quantity of china and pottery £10.00 - £20.00		£20.00				
685	A quantity of pewter and metalware £10.00 - £20.00	725	A mahogany bureau with 4 drawers £10.00 - £20.00				
686	A table £10.00 - £20.00	726	A massive lot of glass, china etc £10.00 - £20.00				
687	3 china containers etc £10.00 - £20.00	727	A large quantity of pictures £10.00 - £20.00				
688	A quantity of books including Harry Potter £10.00 -	728	A large quantity of DVDs £10.00 - £20.00				
	£20.00	729	A quantity of pottery items £10.00 - £20.00				
689	3 vintage crates / boxes £10.00 - £20.00	730	A quantity of Blu-Rays including Ted and DVDs				
690	A quantity of LPs, 78s £10.00 - £20.00		including Disney, Family Guy, box sets etc £10.00 - £20.00				

5

731	12 volumes of Music and Musicians £10.00 - £20.00	772	A large quantity of pictures £10.00 - £20.00
732	A quantity of LPs £10.00 - £20.00	773 774	An oak framed mirror £10.00 - £20.00 2 gilt metal mirrors £10.00 - £20.00
733	A box of books, mainly on toys £10.00 - £20.00	775	A large quantity of pictures £10.00 - £20.00
734	A box of small musical instruments £10.00 - £20.00	776	A hunting scene oil on board £10.00 - £20.00
735	A box of books including Thackeray £10.00 - £20.00	777 778	A stereo in cabinet & CD rack £10.00 - £20.00 A contemporary china cabinet £10.00 - £20.00
736	4 boxes and case of Airfix, Maccano etc £10.00 -	779	A hall mirror £10.00 - £20.00
	£20.00	780	A superb inlaid cabinet £10.00 - £20.00
737	A Victorian tilt top table £50.00 - £60.00	781	2 Lego Star Wars canvases £10.00 - £20.00
738	A wicker crib £10.00 - £20.00	782	A cheval mirror £10.00 - £20.00
739	A large coffee table on wheels £10.00 - £20.00	783	A good quality corner cabinet £10.00 - £20.00
740	A large stripped oak dining table £10.00 - £20.00	784	An uplighter £10.00 - £20.00
741	3 oak Deco chairs £10.00 - £20.00	785	A large sofa £10.00 - £20.00
742	A quantity of fishing items etc £10.00 - £20.00	786	A serpentine fronted sideboard £10.00 - £20.00
743	A framed/glazed watercolour Nidderdale signed £10.00 - £20.00	787	A superb yew wood nest of 3 tables (Harris & Baker) £10.00 - £20.00
744	A quantity of office files etc £10.00 - £20.00	788	A lovely quality inlaid cabinet (Harris & Baker)
745	A box of LP records £10.00 - £20.00		£10.00 - £20.00
746	A tile topped coffee table £10.00 - £20.00	789	A Harris & Baker 'breakfront' cabinet £10.00 - £20.00
747	A stained wood 3 drawer chest £10.00 - £20.00	790	A Harris & Baker dresser £10.00 - £20.00
748	A set of 4 1950s dining chairs £10.00 - £20.00		
749	An oak Arts and Crafts style coffee table £10.00 -	791 792	A Brexton tea set etc. 9 shelves £10.00 - £20.00 A Harris & Baker oval coffee table £10.00 - £20.00
	£20.00		
750	2 pairs of ladies boots £10.00 - £20.00	793	A Harris & Baker yew wood cabinet £10.00 - £20.00
751	A 2 drawer office filing cabinet £10.00 - £20.00	794	A framed & glazed 'musical' picture £10.00 -
752	A coal hod and companion set £10.00 - £20.00		£20.00
753	A bureau £10.00 - £20.00	795	A framed & glazed 'musical' picture £10.00 -
754	A cased Brazilian grass hopper £10.00 - £20.00		£20.00
755	A modern chest of 4 drawers £10.00 - £20.00	796	A floral oil on board signed Stella Lane £10.00 - £20.00
756	Am Amstrad Notepad, Spectrum, games etc £10.00 - £20.00	797	3 oak dining chairs £10.00 - £20.00
757	A quantity of china £10.00 - £20.00	798	A pair of framed & glazed equestrian prints £10.00
758	An electric sewing machine £10.00 - £20.00		- £20.00
759	A cased typewriter £10.00 - £20.00	799	A ladies 'Lancashire ladderback' carver chair
760	A box of office CDs etc £10.00 - £20.00		£10.00 - £20.00
761	A vintage Hoover Dustette in box £10.00 - £20.00	800	An inlaid table with reeded legs £10.00 - £20.00
762	An electric sewing machine £10.00 - £20.00	801	A quantity of figurines £10.00 - £20.00
763	A boxed set of LP records £10.00 - £20.00	802	A fine set of 6 dining chairs £10.00 - £20.00
764	A stereo deck and speakers £10.00 - £20.00	803	A stained glass leaded pane £10.00 - £20.00
765	A large quantity of LPs and 45s £10.00 - £20.00	804	A large rural print £10.00 - £20.00
766	A large quantity of beer mats £10.00 - £20.00	805	A large quantity of Denby tea & dinnerware £10.00
767	A large quantity of bedding £10.00 - £20.00	000	- £20.00
768	A box of china etc £10.00 - £20.00	806	A quantity of old dolls £10.00 - £20.00
769	A box of china, glassware etc £10.00 - £20.00	807	A large gilt table lamp £10.00 - £20.00
770	A box of pottery, china etc £10.00 - £20.00	808	An oak dining table with swivel top £10.00 - £20.00
	A box of pottory, office 6to £10.00 - £20.00	809	A quantity of miscellaneous including troll, plaque

6

A quantity of miscellaneous including troll, plaque & bottles etc. £10.00 - £20.00

BidMaster Office

771

A large quantity of pictures £10.00 - £20.00

810	A case of marbles & chess pieces etc £10.00 - £20.00	846	A red laquered round box £10.00 - £20.00
811	A folder of Beatles magazines £10.00 - £20.00	847 848	A quantity of paperweights £10.00 - £20.00 2 Capodimonte figures £10.00 - £20.00
812	5 framed & glazed portraits etc. £10.00 - £20.00	849	A quantity of old plates £10.00 - £20.00
813	A fine canteen of cutlery & box of good cutlery	850	A games table £10.00 - £20.00
	£10.00 - £20.00	851	3 capodimonte figures £10.00 - £20.00
814	3 old boxes including papier mache £10.00 - £20.00	852	A quantity of blue &animals & jugs etc. £10.00 - £20.00
815	4 framed & glazed landscape prints £10.00 -	853	24 retro handles £10.00 - £20.00
016	£20.00 4 decorative 'floral' stands £20.00 - £30.00	854	15 items of Wedgwood £10.00 - £20.00
816 817	3 suitcases £10.00 - £20.00	855	A box full of recipe cards £10.00 - £20.00
818	A studio art pottery 'figural' vase £10.00 - £20.00	856	A model ship £10.00 - £20.00
819	A framed & glazed coloured etching £10.00 -	857	A shelf of china & glass £10.00 - £20.00
013	£20.00	858	A shelf of coins £10.00 - £20.00
820	A quantity of commemorative ware including	859	A box of jewellery £10.00 - £20.00
	cottages etc. £10.00 - £20.00	860	A cranberry jug etc. £10.00 - £20.00
821	A quantity of framed & glazed Continental watercolours, signed £10.00 - £20.00	861	An interesting tray of silver plate etc. £10.00 - £20.00
822	A quantity of old china including Royal Doulton &	862	2 interesting pigs & a dog £10.00 - £20.00
000	Beswick etc. £10.00 - £20.00	863	3 items of art glass £10.00 - £20.00
823	A quantity of LP records £10.00 - £20.00	864	A quantity of watch parts £10.00 - £20.00
824 825	A sall motor, icing gun & flask £10.00 - £20.00 2 Wedgwood embossed bowls £10.00 - £20.00	865	An Armstrong Siddeley Sphinx car mascot £10.00 - £20.00
826	A quantity of stamp albums & stamps including	866	trinket pots £10.00 - £20.00
027	Victoria £10.00 - £20.00	867	An old compass £10.00 - £20.00
827	27 A scoop, leather case & scent bottle & purse etc. £10.00 - £20.00		An abacus £10.00 - £20.00
828	A large quantity of Oriental teaware £10.00 -	869	4 jade bangles £10.00 - £20.00
	£20.00	870	A glass ornament £10.00 - £20.00
829	2 Spelter figurines of Egyptian Gods £10.00 - £20.00	871	A quantity of watches & golf medal etc. £10.00 - £20.00
830	An Aynsley clock & 2 vases £10.00 - £20.00	872	3 pendants & a chain £10.00 - £20.00
831	A 4 piece Swan 'Cromolin' tea & coffee service £10.00 - £20.00	873	A quantity of china including Cloissone, paperweights & Delft etc. £10.00 - £20.00
832	A large gilt framed mirror £10.00 - £20.00	874	A box of assorted stamps etc. £10.00 - £20.00
833	A canteen of cutlery £10.00 - £20.00	875	A large box containing cruets & Carltonware etc.
834	A quantity of china £10.00 - £20.00		£10.00 - £20.00
835	A selection of glass £10.00 - £20.00	876	A box of old maps £10.00 - £20.00
836	A box of jewellery £10.00 - £20.00	877	3 boxes of workshop manuals £10.00 - £20.00
837	2 lacquer boxes & a rosewood box £10.00 - £20.00	878	A box of old tapes £10.00 - £20.00
838	An oak mantle clock £10.00 - £20.00	879	An old commodore computer £10.00 - £20.00
839	A 3 horn table ornament £10.00 - £20.00	880	A box of old brass lights etc. £10.00 - £20.00
840 841	An onyx table lamp £10.00 - £20.00 2 Doulton Toby jugs £10.00 - £20.00	881	A box containing an iron & brass foot warmer & flask etc. £10.00 - £20.00
842	A quantity of silver plate £10.00 - £20.00	882	A box of cutlery £10.00 - £20.00
843	An old brass bell £10.00 - £20.00	883	A box of soft toys £10.00 - £20.00
844	4 art pottery bowls £10.00 - £20.00	884	A box of wooden instruments £10.00 - £20.00
845	A quantity of iron including wall light £10.00 - £20.00	885	A box containing top hats & clths etc. £10.00 - £20.00

886	A bag of beer mats £10.00 - £20.00	928	4 items of china £10.00 - £20.00
887	3 items of art pottery £10.00 - £20.00	929	A cabriolet leg foot stool £10.00 - £20.00
888	An old wax doll £10.00 - £20.00	930	3 pairs of binoculars £10.00 - £20.00
889	A quantity of Toby jugs £10.00 - £20.00	931	A quantity of china £10.00 - £20.00
890	2 wooden figures £10.00 - £20.00	932	A signed Gary Barlow picture £10.00 - £20.00
891	A quantity of paperweights £10.00 - £20.00	933	An oval bevelled gilded mirror £10.00 - £20.00
892	A tray of toys & trinket box etc. £10.00 - £20.00	934	A cut down inlaid side table £10.00 - £20.00
893	A quantity of boxes £10.00 - £20.00	935	A quantity of china £10.00 - £20.00
894	A bottle of Baileys & bottle of Benedictine liquer £10.00 - £20.00	936	A quantity of cosmetics & vanity products £10.00 - £20.00
895	A quantity of china tea sets £10.00 - £20.00	937	A large metal plaque & 3 plates £10.00 - £20.00
896	A model boat £10.00 - £20.00	938	A quantity of interesting items including
897	An arts & craft plant pot & lamp holder etc. £10.00 - £20.00	939	paperweights etc. £10.00 - £20.00 A large picture 'Venice' £10.00 - £20.00
898	A set of 4 ebony bowls £10.00 - £20.00	940	A quantity of Chinese items £10.00 - £20.00
899	3 pairs of binoculars £10.00 - £20.00	941	pair of brass candlesticks & a warming pan £10.00
900	2 cast door stops £10.00 - £20.00	0	- £20.00
901	A wall light & china £10.00 - £20.00	942	A 4 drawer wooden filinf cabinet £10.00 - £20.00
902	An old piano stool £10.00 - £20.00	943	2 china Buddhas £10.00 - £20.00
903	An old gun cleaning kit £10.00 - £20.00	944	A painting on board, signed M Dixon & dated
904	A quantity of miniature spirit bottles £10.00 -		£10.00 - £20.00
001	£20.00	945	A quantity of pictures £10.00 - £20.00
905	2 army walking sticks & a whip £10.00 - £20.00	946	A walking stick £10.00 - £20.00
906	A small suitcase & photographs £10.00 - £20.00	947	A quantity of pots etc. £10.00 - £20.00
907	A china part tea set £10.00 - £20.00	948	A quantity of books on great artists etc. £10.00 -
908	A hanging wall light £10.00 - £20.00	0.40	£20.00
909	A soft paste vase with lid £10.00 - £20.00	949	A framed engraving £10.00 - £20.00
910	An iron standard lamp £10.00 - £20.00	950	A pair of binoculars & a mobile phone £10.00 - £20.00
911	Approximately 17 books of tea cards £10.00 - £20.00	951	A quantity of woolen Chinese figures £10.00 - £20.00
912	A quantity of flasks & silver handled cake slice	952	A quantity of clocks £10.00 - £20.00
	etc. £10.00 - £20.00	953	A quantity of floral posies £10.00 - £20.00
913	A nest of tables £10.00 - £20.00	954	A quantity of cruets etc. £10.00 - £20.00
914	A black glass antique sign £10.00 - £20.00	955	3 items of carnival glass £10.00 - £20.00
915	4 stamp albums £10.00 - £20.00	956	A stadium helmet £10.00 - £20.00
916	A quantity of glassware £10.00 - £20.00	957	A quantity of figures including jug £10.00 - £20.00
917	A leather wine jug £10.00 - £20.00	95 <i>1</i> 958	
918	A large quantity of crested ware £10.00 - £20.00		A quantity of Dickens books £10.00 - £20.00
919	A 4 leafdrop leaf table £10.00 - £20.00	959	A painting on canvas £10.00 - £20.00
920	A leaded table lamp £10.00 - £20.00	960	A quantity of books on the history of The Great War £10.00 - £20.00
921	A portfolio of pictures £10.00 - £20.00	961	An old set of scales £10.00 - £20.00
922	A wing armchair £10.00 - £20.00	962	An antique pine chest of drawers £10.00 - £20.00
923	A framed & glazed beach scene £10.00 - £20.00	963	A box of sundries £10.00 - £20.00
924	A mahogany drop leaf table £10.00 - £20.00	964	A box of old toys £10.00 - £20.00
925	A quantity of railway pictures £10.00 - £20.00	965	A quantity of picture frames £10.00 - £20.00
926	A quantity of paper knives etc. £10.00 - £20.00	966	3 boxes of LP records £10.00 - £20.00
927	A revolving CD rack £10.00 - £20.00	967	2 horse brasses & a hunting horn £10.00 - £20.00

8

968	Δ	quantity	Λf	nicture	frames	£10	Ω	- £20.00
900	м	uuaniiiv	ΟI	Dicture	Hallies	エリリ	.uu	- £2U.UU

- 969 A quantity of sewing & knitting items £10.00 £20.00
- 970 A wall clock with an automatic calendar £10.00 £20.00
- 971 A quantity of cranberry glasses etc. £10.00 £20.00
- 972 2 bedroom chairs & a stool £10.00 £20.00
- 973 An antique pine chest of drawers £10.00 £20.00
- 974 An old 6 drawer mahogany sideboard £10.00 £20.00
- 975 A boxed Steepltone record deck £10.00 £20.00
- 976 An oak kitchen table £10.00 £20.00
- 977 A Noritake dinner set (approximately 55 pieces) £10.00 £20.00
- 978 A multi tracker £10.00 £20.00
- 979 A silver plated flute £10.00 £20.00
- 980 An antique oak hall table £10.00 £20.00
- 981 A nest of teak tables £10.00 £20.00
- 982 An oak framed settee £10.00 £20.00
- 983 A long carved sideboard base £10.00 £20.00
- 984 A gun bag & cleaning kit £10.00 £20.00
- 985 A wooden framed settee £10.00 £20.00
- 986 A burgundy couch £10.00 £20.00
- 987 A quantity of basketware £10.00 £20.00